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Charging data
C1


i and slope w/ uncertainty



C2


i and slope w/ uncertainty



C1 parallel C2

i and slope w/ uncertainty



C1 series C2

i and slope w/ uncertainty

Discharging data (RC)



C1


R and slope w/ uncertainty



C2


R and slope w/ uncertainty




Charging one or  more capacitors 

with constant current

    Calculated from C1 and C2
  Discharge thru  R  (RC)      Agree w/i error?


A
C1 ( (  )






  G . C1 ( (  )


Y/N


B
C2 ( (  )






  H. C2 ( (  )


Y/N


C
(C1 parallel C2)  ( (  )
     E  (C1 parallel C2)  ( (  )




Y/N


D
(C1 series C2)  ( (  )
     F (C1 series C2)  {no error calc}




Y/N



Do A and G agree within error?  

Do B & H agree within error?

Do C and E agree within error?

Do D and F agree within the error of D?

Error analysis:  Uncertainty in C from uncertainty in slope and i, or uncertainty in slope and R

All calculations are of the form f = x/y.

(13) inside back cover:   fractional error in f = ( ( sx/x)2 + (sy/y) 2 )1/2 .

C = i/ slope;    i => x,   slope => y

Example:

1% error in i => 



sx/x = 0.01

1.5 % error in slope  => 


sy/y = 0.015

fractional error in C => (.012 + .0152 )1/2 = .001 (122 + 152)1/2 => 0.018  => 1.8% error in C
